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The first derivative test:
f'(c)=0.
Then if f' (x) <0 for x <cand f' (x)>0 for x> ¢, f(c) is a minimum.
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Then if f' (x)>0for x <cand f'(x) <0 for x> ¢, f (c) is a maximum.
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Graph of x sin(x)
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We'll re-visit this example. But we can see how quickly things can spiral out
of control.
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Recall, the cubic from yesterday. It had 1 max, 1 min, and 1 inflection point.
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How about a rational function?
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This says that the college-algebra graph is good for calculus, as well!
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Let's do something the College Algebra kids can't do.
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For some reason, I thought the intersection should be off to the right of

Note:

x =7/2, but it's slightly to the left of x = 10/3. That's not a problem.
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